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j The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions (any ten) :
1x10=10

oo 2P e frn (R e wedt)
(@) What is ordinal utility?
TS Tefarel 6 2

(b) State the law of equimarginal utility.
SR Secaer R S 41

(c) Define indifference map.

£RTer (@R TWidad e fd |
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(d)

(e)

9

L)

()

(2)

What is the marginal rate of substitution
between two perfectly complementary
goods?

1 of <R TR (RS fF AfOFI W
IS E R

What is substitution effect?

A Sew R 2

Mention the ‘Giffen paradox’.
s M¥T’C0! ey 791 |

What is meant by production?
Teomw e & o 2

Give one example of implicit cost.

ey T «O1 SRz |

What is meant by a person be risk lover?

VW@W#@WW%{W?

0)

(k)
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Why is the long-run average cost curve
U-shaped?

T 1% I @oR U-Sigphed g 202

What is iso-cost line?
TE @ 2
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(3)

How do you calculate the marginal rate of
technical substitution?

ot e afeFss W of @A A
32

Draw an isoquant curve for perfect
complements of factors.

o oAReTF T G -BRATA ({41 A
BRI

Mention one important reason for
decreasing returns to scale.

P ST TR 9Ol agegelf I TE
LIl

Define variable factors.

fRgERE TeleE il A |

What are iso-utility curves?
s-Becafirel @z & & 2
Why is average revenue curve of a firm -
under perfect competition horizontal?
op afcaronre e ofeb &R oIS S
@ o Srfis =2

Why are selling costs not incurred in
perfect competition? :

14ﬁftsmﬁ@wwﬁ@mﬁwwm?
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2. Write short answers of the following questions
(any five) : 2x5=10

o e B e T (R e #fiow) :

(a) What is meant by the slope of an iso-cost
line?

S @91 GO B e ¥ e ?

(b) Distinguish between gross demand and
net demand.

{bﬁﬁmwwﬁﬂfi‘mmm‘«ﬁﬂﬁ«fﬂwn

() Can we apply the law of diminishing
marginal utility to money? Give reason.
FEPEe AR Saaer RiEh =it @R
CFES ACHe PRI AT 7 I et |

(d) State Slutsky’s equation.
2GR ANFIeCH! Tewy I 1,

() If B=x-P,+y-P, where B represents
money income of the consumer, P, and
P, represent prices of goods x and Yy
respectively, find the slope of the
equation.

i B = x- P, +y- P, &, TS BT¥ TSR
W, P, 9I¥ P, ¥ & x WF y W T,
SNFICOR Bl Tferea |

( Continued )
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(5)

() Show that average cost is the
combination of average fixed cost and
average variable cost.
memm%mi’a%fiamwm
oifRaSE TR T |

(g9 What is strong ordering?

R @ 2

(h) Distinguish between risk-averter and
risk-neutral individuals. ]
eql-SEE S - e o
oef ey ¥4 |

(i State the two conditions for equilibrium
of firm under perfect competition.

o efecaroTEE T@ee SR ST 76
761 Teay 90 |
() What is a marginal firm?
oo oo & 2
3. Answer the following questions (any foun :
5x4=20

oo epard e i (R e wifo)

(a) Briefly explain the principle  of
diminishing marginal rate of
substitution. What role does it play in
shaping indifference curves? 3+0m=5
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|
| (6) (7)
[ERIEMBIC] oifee afees =9 ASCOT W [ (e) Examine the following data on outputs
=1 | B @1 o fae oo 2 R g and inputs. What type of returns to
9 : ~ scale does it represent and why? Give
MIGCESIE N
: arguments : 2+3=5
(p) What is income-consumption curve? wae f oo W SR SIPTHR o3I
Derive income-consumption curve for 74| B @R TeArE e R sfeffrg sk
‘ . normal goods. 1+4=5
o o 2 3fe foan
oR-Tcee @ 7 Fefe AN em-
Tocell ([FYOE WIRI F90 | Capital (§7%) (K) | Labour (73) (L)| Output (<) ()
1 5 8 3
| () Explain the revealed  preference 10 16 6
hypothesis. 5 20 32 12
o7 SRR 2AFHCO! I 397 | 40 i 24
(d) Fill in the blanks in the table below : () What is expansion path? Derive
1+41+1+2=5 expansion path with the help of diagram. i
1l Phas
| wE] ORI el SRCAR R
| e o1 3 7 fod 2R FTRepfe A% SR
Output | Total Total Total Average Average 4
geor | cost (T) fixed variable fixed variable !
| P cost (¥) cost (T) cost (T) cost (¥)
| e | PRI | PR | reRe | aE AR (g) Derive average fixed cost curve from total
W) | WO wGF) | 76O fixed cost curve. S
0 50 oo i i o
; - g o o e 3 g T @R A e W @SR
2 100 i o i S Bl
3 120 de ] s i
4 135 i i At 2t (h) Can a firm under perfect competition
5 150 - — =i = operate in the short-run when it is
| 6 160 T - — — making losses? If so, explain the
f 7 165 = — — — condition with the help of diagram. 1+4=5
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o AT I TFFES <o AV
@R PR 2 Beofm I HAR AR
e 2w AT, o AR fouw RS
[ 30

4. Answer the following questions (any four :
10x4=40

worq e Tes (R e i) ¢

(a) With the help of indifference curve
analysis, derive individual and market
demand curve. 6+4=10

s @2 Rerwe 2re 3fe stn @@ 9
T4 SR @1 2 9 91 |

(b) Explain Slutsky substitution effect for a
rise in price and for a fall in price.

(d) State and prove

(e)

(9)

Samuelson’s
fundamental theorem of demand.
Mention any two limitations of the
theorem. 8+2=10

e (e iR Ogehl By I W
9 90 | SGOR R @A 1B Mk TeEy
0|

What are the assumptions of N-M utility
function? How can N-M utility index be
constructed to explain the choices by an
individual under risky and uncertain
situations? Explain. 2+8=10

N-M B Fere SfeqRerz & 6 2 wfe-
wgg o Sfvegel ARfEe e ozw TR
+RAA N-M Soaifare] [ @eAed 0 IS
ofif] 7 I 1

5+5=10
Ll ISR Fqo WL afsew
Wﬁw | ik ; o R () State the law of diminishing returns.
Why do diminishing returns to a variable
input occur eventually? Can they become
(0 What is meant by inter-temporal negative? If so, why? 4+3+2+1=10
choice? Explain inter-temporal choice of
consumption. 0+8=10 ZEPEH S R Tme I €O
RSSO W B @R (S ARAGANT TAME (S TGP TRATH
iicE 5 oS R W7 2 4N T3S A ? I
SIS *[R™ AR 47 |
o1, 9 7
A23/178 ( Continued ) A23/178 ( Turn Over )
L T




(9

( 10 )

What are increasing returns to scale?
Show them on an isoquant map. Explain

- the causes of increasing returns to scale.

()

()
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1+5+4=10

TREE TeoqmE T 2 AN-SeomE (W
MRS (RS | GRIETH TeAT AqH FRPIR
QT 9

Define marginal cost. How is it related to
marginal product of a factor? As output
is increased, marginal cost first falls and
then beyond a certain point it rises. How

would you explain it? 1+5+4=10

afes I99 | a1 @1 TAmER At
TR FTO TR (IR T SR ?
Teowe (fom Jfa A1, ofe I 22w 2P AR
o <o e R Piee 2 & om0 TR ot
FCTCI TR 312

What is meant by firm’s equilibrium?
Explain how a firm arrives in equilibrium
in the short-run. 2+8=10

AfBE ST e 5 o 2 TveETS 2fevm
GBIR (FCTHC SR =TS CE, R0 41 |

( Continued )
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(11 )

() Distinguish between market price and

normal price. Explain the determination
of market price in the very short period
under perfect competition. 4+6=10

IGR T TE FORS 771 e e g 3911
A AR TS A FFFETS TEN ™
R 2 T 9901
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